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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |
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Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH

Question Number : 6 Question Id : 59345214753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,
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Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR

1. ¢



Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP

Question Number : 35 Question Id : 59345214782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e

Question Number : 36 Question Id : 59345214783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.

Question Number : 37 Question Id : 59345214784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%



Question Number : 38 Question Id : 59345214785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’

Question Number : 39 Question Id : 59345214786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90

Question Number : 40 Question Id : 59345214787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL



Subject & Area Concerned

Section Id : 593452260
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 180
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 593452288
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59345214788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which from amongst the f::rll::mmzcuuumr be included in the 'Shadgunya Niti' of Manu ?

_\

fFrefafiag # | = A9 @ ‘wiged difa’ J At q87 e A

= -

;:lj_ﬂ-_.l ﬁ; .1’

(i) S'mdhl (ii) Vigrah

(iii) Vyavahar (iv) War

(v) Time (vi) Sanshray
g9 Ho

Options :

| ® (i) (ii) (iii)



) % (i1) (ii1) (iv)
- (iil) (1v) (v)

L% (iv) (v) (vi)

Question Number : 42 Question Id : 59345214789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who amongst the following asserted "The Parliamentary form of government, as a
political institutional device, has proved to be inadequate to continue or expand concrete
democratic rights of the people” ?

=iET 5 J =E g8 A1 ST Hel, WS B U5 HEEE 390l
®H T H HIH H GEHGE AU AT & g THi-As ATSRE 6
HYAY AGG] HIEA FHIA H ARHE HJiad 52 5 17

Options :
Marion Kozak

% qa TS

Leo Panitch
r-.-k;r .-_\ f'\ -

2. ®

M. N. Roy
3 % THo TUHo 719



A. R. Desai
OTo HMTo =9 é

Question Number : 43 Question Id : 59345214790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The State Against the People' — this essay has been written by :

=1 — = ’ T T T= 2
o AN @ Ul — 9% o™ [shHh &0 Todl 1497 5 °©

Options :
V. K. Ramaswami

P. N. Bhagwati

, % Jlo Uo STl

Rajani Kothari

3 TAAT ST

Morris Jones
) ..--.- ; = ;
4. %

Question Number : 44 Question Id : 59345214791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Antonio Gramsci's 'Philosophy of Praxis' is a developed form of which of the following ?

T4l IHET &1 UEETT 3 e F=eigd 8 J 3hEa G5Ed ¥9 5 7

Options :
Marxism
] % A

Communism
p, & AR

Hegelianism

A

3. o 2hEngla

Question Number : 45 Question Id : 59345214792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which year did Congress Party change its constitution so that the members of
Congress may not be able to hold dual membership ?

g g9 # Siag 9E F 99 Jiaee # J9idga G s S & 9
SIESl Hew=dl d TR T HE 7
Options :

| % 1951

1948
4



1934

1936

Question Number : 46 Question Id : 59345214793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the Iollcrmng are correct about the single tr'msferab]e vote system ?

UhHel HHHCTE AT 9Eid & [G9d " g § J - B9 g8t s ¢

(i) The voters vote for all the c*indid'n:e‘;
Haeldl JE€ ISRENET H " &d &

(i1) It is essential for the voters to vote for all the candidates
T IHGA #1749 oAT AaediHl & 0 JEegE 5|l &

(iii) The voters vote on the basis of preference
HOGIdT SFGATT &l g49dl & HATIT 97 Ad &d 5

Options :
| % (1) (i1) (1)
© (1) (i1)

* (11) (ii1)

. (1) (i)



Question Number : 47 Question Id : 59345214794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following matches with the concept of 'output' in Almond's Structural
Functional approach ?

HAHUS & HIEAHG-TEEE® UNH @ A & H@ed " o#Er gHied
E,L_:- %
(i) Regulatory (ii) Distributive
ElREISET EEAUIE
(iii) Symbolic (1v) Political participation
ERIEARE AR HEATEAr
Options :
(1)
1. #
(1), (111)
2. %
(i), (ii), (iii)
¥

(i), (ii), (iii), (iv)
4. %

Question Number : 48 Question Id : 59345214795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

"You have two cows, government will take both and sell you milk" — to which ideology
does this statement belong ?

“HATTE I ST T B, @Y M A W A @ I ATl g a=E —
5 FHYH e AErgET 9 99=iag 57

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

Socialism
1, SR

Communism

) HEATS

Nazism

g, AP

Fascism

Question Number : 49 Question Id : 59345214796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
When was LTTE defeated ?

i~ -

. 1 N [y
oo e <l " 934040 <hRAl 1491 ¢




Options :

2006
1. ®

2008
®

2009
3.¢

2010

Question Number : 50 Question Id : 59345214797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who was the last President of the Indian Central Legislative Assembly during the British
Rule ?
fEfeel o & QRE \RdE H=E [Ga| 99 @ AT HA=d Hhid o 7
Options :
Sir. R. K. Shanmukham Chetty
g T¢ Ao THo IHEH =gl o

1.
Abdul Rahim
, x I T

Frederick Whyte

y x S dTEE




G. V. Mavalankar

4 Silo dlo GE7R

Question Number : 51 Question Id : 59345214798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who has pmpcunded the concept "Paradox of Repmxem’itmn in India ?
ARG H ‘A @ @3EmEE’ 98 FJFaen GEd aidaned @ 7

Options :
Suhas Palshikar
. Gord gAeiET

Pratap Bhanu Mehta

5 % A |- Hadl

‘r DEEIldla Yadav

3
M. V. Pylee
4 % UHo dio 95T

Question Number : 52 Question Id : 59345214799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Who has traced the evolution of BJP in terms of oscillation between moderation and
militancy ?
A Sl 916l & [9ehrd pH &l A=9ART AT 39491 & 99 Gled & =9

H ey =g mar & 7

Options :

Christopher Jaffrelot
|« EPEEITT SThRie

Katherine Adeney
8 %n— ;i- . _h[-. ';.“:"_."-'rl

Rajani Kothari
3w T DG

Yogendra Yadav
4 % ATTE TRT

Question Number : 53 Question Id : 59345214800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to Robert Cox, the world order is shaped by :

e FAE H AFAN GEF-=mIE B FGeT Fead § F e Ui
% o

Options :

[deas, Diplomacy and Institutions

=T, Al AT He

1. ®



Production, Power and Ideas
IaTeA, 9lad A &=

2. ¥

Production and Ideas
3 Y el '31_\ T ’l'ﬂ"_:”'

Institutions, Production and Ideas
4 88 Eﬁ—"ﬂ-'ﬁ:, Eiq ﬁ '-3_\ - rr.-jw—q .

Question Number : 54 Question Id : 59345214801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Dialectic of Enlightenment’ was written by :
‘STEviige® H® THAeTZeAHve’ g Bl OE® DA 5

Options :
Herbert Marcuse

| % PHC HIEEE

Max Horkheimer

H= EMAEHT
5 o TAE BEAEAT

Juergen Habermas

3, ® T FIER

Eric Fromm
L - »



Question Number : 55 Question Id : 59345214802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who used the term "Patriarchal government' ?

‘TUgaacas qehre 9% UG e ugEd A B 7
Options :

Kate Millett
| ¢ FT T

Carole Pateman
FHlel TeHA

Betty Friedman

gl S5+

S. Firestone
THo THEE

Question Number : 56 Question Id : 59345214803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who coined the term '"Feminism' ?



Options :

Charles Fourier
| @ T BT

Helen Cixous
=o T

Pierre Bourdieu

3, 1T ARGY,

F. Engels

4 % SO FT

Question Number : 57 Question Id : 59345214804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Religion is a gendered institution' — who said this ?
ThE- Bl & — ‘9H U oigg 9Em 5 7

Note: For this question, discrepancy 1s found 1n question/answer. Full

Marks is being awarded to all candidates.
Options :

Karl Marx



Kate Millett

Shulamith Firestone
2T THT Al

Michael Kimmel
4, ATEE TEHH

Question Number : 58 Question Id : 59345214805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which year did Switzerland join the UN ?
Fagelvs e 99 Hgad g 99 B "Jeed F497 7

Options :

| % 2000

2002

1999

Question Number : 59 Question Id : 59345214806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is 'emancipation’ according to critical theorists ?
A= [Eamel & AJAT HEd 41 § 7

Options :
Reconciliation with power
| % MRS W OHTT WS

Humanity gaining power over nature
, TN H AP 9T FEE

Reconciliation with nature
s o T T HTT HESE

None of the three
A

Question Number : 60 Question Id : 59345214807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who is the author of 'On India and Her Problems' 7
Options :
Bal Gangadhar Tilak
| T TEMEE (O



Rabindranath Tagore
o TAFEATT T

2.

M. N. Roy
;. % o THo g

Swami Vivekananda
4 \j xﬂl T rqurjch :

Question Number : 61 Question Id : 59345214808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who propounded the theory of 'Cultural Nationalism' ?

‘HiEFiaE WA’ F HErd Es ST d9iddied  =RET ™7

Options :
Gopal Krishna Gokhale
| % TOIRT T

Vivekananda
2 23 T — :l

Savarkar
3, o SR

Sri. Aurobindo
4 % dlo T <]



Question Number : 62 Question Id : 59345214809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the maximum number of candidates an EVM machine can support ?
UF ZodloUHo AN FaEad fhay IHEA & J999 &7 JFhdl 5 7
Options :

36

1. %

Question Number : 63 Question Id : 59345214810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How much vote percentage if secured by a political party in a state election in India
enables the former to acquire the status of a registered political party ?

el 99 FMa=a # faar \@a dgfged 9 T @9 9% 9Rd °H UE
IS Gl USiihd Tl Gl @1 Gl "I T Sl & 7

Options :

A
1.v 1%



Question Number : 64 Question Id : 59345214811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following scholars is a realist ?
Trfaad § § -9 Fee gorfaey & 7

Options :
Michael Doyle
| % SIS ST

Andrew Moravcsik

Y
UUsy HIY[=H

Nicholas Onuf
s % IR SN

Robert Gilpin
e R

4. &



Question Number : 65 Question Id : 59345214812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The second 'Great Debate' in international political theory was between :
HL T TeHas Fed | f@gdm |9ee 98597 e 9= 523 4 7

Options :
Idealism and Traditionalism
| % AGIEE AT TG & HE

Behaviouralism and Traditionalism

) o FTERAE AT TTEEEE & A9

Structural Theory and Domestic theory
y % HOEAER AN WY HEea & A

All of the three

4 & T H FE

Question Number : 66 Question Id : 59345214813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following countries is not a member of either SAARC or BIMSTEC ?

Fr=faaa 5 | $E-A1 27 9 a1 966 B q9ed B A AEes #wov
Note: For this question, discrepancy is found in question/answer. Full
Marks 1s being awarded to all candidates.




Options :
Bhutan

1,

Sri Lanka

Nepal

Afghanistan
4.

Question Number : 67 Question Id : 59345214814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who amongst the following characterised the Directive Principles of State Policy as
'pious aspirations’ ?

e & F e 99 & HAid Meers ol @l 9ias SAmE e

&

ap

Options :
B. N. Rao
% dloc U0 g

Granville Austin
I HATEA




Sir Ivor Jennings
3 o HY HAFIT A

K. C. Wheare
4 % Fo Hio FEET

Question Number : 68 Question Id : 59345214815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Article 359 of the Indian Constitution authorizes the President of India to suspend the
right to move any court for the enforcement of fundamental rights during :
HigaE B AP=Ee 359 fHE 9RRid § ARG & Tegdid @l HATHHd Il

% 6 g% dAlfesh ATTHED & 99049 & 00 Feradl § JA- & (AL 5)
FATRT Hl =TT HT & 7

Options :
A National Emergency
L T AT R

Failure of Constitutional machinery in states
5 % TN H FAAEES T W A B

Financial Emergency
3. % I HTITE

None of the three
, o T E FE



Question Number : 69 Question Id : 59345214816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Match the following :
e i

List-I List-11

T:ﬁ-l Q\Eﬁ-ll
Political Party Year of Origin
REEIREARIG I A 9u

a Akali dal 1. 17 Sept., 1949
AR T 17 THT=7, 1949
b Dravida Munnetra Kazhagam 2. 14 October, 1985
=S Jersl BN 14 FFAT, 1985

c Asom gana Parishad 3. 14 December, 1920

HEH T IEE 14 TH=7, 1920
d All India Dravida Munnetra Kazhagam 4. 17 October, 1972
AT IUSAT ZTS Fi=AT B 17 HFeET, 1972

Choose the correct option :
el @ T T =399 &Y ¢

Options :

| ® a-4,b-1,¢c-2,d-3

5 % a-1, b-4, c-2, d-3



a-2,b-1, c-4,d-3

a-3, b-1, c-2, d-4
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Question Label : Multiple Choice Question
In which year was Pandita Ramabai awarded Kaiser-i-Hind by the British Government ?
gisdr _"_Fl'l_—l'l_’r _l_f [EIA IR G R '_‘f Efs _-l":[ 1:[ "{ - E T ERIE! ?:f NELEL [
Options :

" 1909

1911
2. %

3 1919

1931
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Question Label : Multiple Choice Question



Which one of the following has not been identified by Nicholas Henry as one of the
fundamentals of New Public Management ?

HefarEg § 9 9 F3ad 8940 31 99 @6 99 & AT9E & =9 o
757 HEEa TEr = E 7

Options :

Accessibility
| v RS

Agility

2.%

Adaptability
ESESEHNIGE]

3. %

Accountability

4. % TTAECE]
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who amongst the following coined the term 'Print Capitalism' ?
e #OH e e S’ 9= @I TRl 7
Options :

William Anderson
| % TEH USTE




Benedict Anderson

5 o TATISHC BESH

Adil Khan

Craig Calham
4 % AT Teeo
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The term 'wave' in Huntington's 'Three Waves of Democratisation' broadly refers to :
Aol i e SRC= 1o = M ) G- o =1 1 O ot o1 = ol e £ o R S = = Lo o R~ o = e =

9T=s =hHT UEIRT Fpar & 7
Options :

Transformation
], % HRE

Transition
2, TIDHT

Turbulence
3 % AT

Tectonic shift
4 % CACI faTe
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Given below are two statements : One is labelled as Assertion A and the other is labelled
as Reason R.

A= o TEE RE T R U @ ATHEHET A’ T g6 @ ST R H w1
H sarEr = E

Assertion A : The main dimensions of political culture are value orientation, religion and

ethnicity.
HFBET A @ TEHIG® HEp ® YT A, e ANEEE, 96 AT
TATEr £

Reason R : In increasingly multicultural societies, the concept of political culture
acquires new scope and relevance.
HRY R : A5HIEpCEH FAEI H AAANGES HERG B FATIEOT ISl AY

Options :
faspeq :
Options :
Both A and R are correct and R is the correct explanation of A

| % AJAT RSEl HEI & T91 R, A #71 HEI =AwAT &

Both A and R are correct but R is not the correct explanation of A

, o AT RSMET HET & 93] R, A 1 HET =ATEAT 75 5

A is correct but R is not correct

,x AT E IR T E



A 1s not correct but R is correct

4 % A TEOE TR HETE
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not correctly matched ?
Ffataa |5 9 s @81 =9 ° Hae 8 e = 5 7

Options :
Dual Federalism —  Layer Cake Federalism
| % GBS — Y T 999Te
Cooperative Federalism —  Marble Cake Federalism
Creative Federalism —  Picket Fence Federalism
3. % JAIHD HedTe = THe B9 J99Ts
Asymmetrical Federalism —  Marble Federalism
a9y H991e — 90 J94dTs
4. ¢
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Question Label : Multiple Choice Question



According to Dr. B. R. Ambedkar what was the key to all social progress of the
scheduled castes ?

Slo dlo #ANo HESHT & AJAN HAJIET g Bl FHE FHETAH T90dT
W AT T AT Y

Options :
Economic Power
| x FTEE STier

Social Equality
o % TENSTE FANC

Political Power
3 A ERIGERIES

Economic Equality
4 % D FHEC

Question Number : 77 Question Id : 59345214824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

"The philosophers have only interpreted the world in various ways; the point however is
to change it". From which book of Karl Marx, this statement has been cited ?

“grefvent F fafe= @Rt | gar & =mmen & 8, F4is 999 3H geoH
W B T8 HAT T AEH H HE T H IGd 57

Options :
On Jewish Question

I L R e



Poverty of Philosophy

- OgET TR TheTarl

Thesis on Feuerbach

3 o ST S AT

Class struggle in France

4 W@ = LN 3 ‘-4-(; o E_T-r r’]-l:'. .
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following believes that the principle of 'complex equality’ should be
applied in the distribution of social goods ?

dEd H " HiE g8 G99 FiRar B O Sicd §EFdr #w S
HHETSE FEIAT & GaoT § qgad A s =Gisg ¢

Options :
Michael Walzier
\-_,4-* Hlg=hel HlemA -

1

Robert Nozick

) % G S ET

Jean-Paul Satre
o T-OTE HE

3.



Antonio Gramsci
L% O] A1
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Whe has described po litical theory as 'word dependent reflection’ ?
T A ad @ 9949 ‘9T AT M=o & &9 J f&ar 7

Options :
Dante Germino

% Sicl SEAT

Jurgen Habermas

% 3 BITHR

R'uee\- Bh'lrﬂa\.a

3.

Bheekhu Parekh
4% H T
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Question Label : Multiple Choice Question



Identify the incorrect pair of school of thought and related author :

-

(=Y, JHeE U9y FieEd ods @ Flegd IIH B IEEiAn

Options :
Viena Circle — Moritz Sclick
| % EIAT "l — IS 99

Cambridge School — John Dunn

TS e — A9 =4

Frankfurt School — Louis Althusser
3 hehthe el — T AL

Chicago School — Harold Lasswell

4 % TEERET FET — EIRS A
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Accusations of Neo institutionalism on behaviouralism, do rof include :

=

99 e 3 =JEerde 97 AN AT 9T B, 399 9T 8 E

Options :

Methodological individualism

1. % SRR b E A IR R



Reductionism

o HYFIITw
2. %

Utilitarianism
1 J~{IIF*I':IICH'-1

3. %

Internalization

AT IR
4. &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following defined freedom as 'the absence of opposition' ?

— —
=

e H H e e B CTad @ Agai ® o9 " 9iEned

&
+

e

Options :

John Locke

1. %

Rousseau

Thomas Hobbes

qHH Bl
3.¢



J. 8. Mill

%5 [RLES s’ ﬁ:lﬁr
4, =
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which kind of rights are not included in citizenship by T. H. Marshall ?
Elo T=o g H [ T8 & HATGHEl @ AFNLDhar H 2MHe F857 50

I)

ap

Options :
Political Rights
MERIGEIREGIEER

1. =

Economic Rights

Social Rights
TS HATTEH

3
Legal Rights
4 % FHIAT AR

Question Number : 84 Question Id : 59345214831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Consider the following statements and select the correct code given below :
=R /e 97 o= Siee AR A= S T FJE B @ g

(a) Mill supports unlimited freedom of thought and ex pression.
el 9= HT A= B AGMAT =T @/l JHGT /Al = |

(b) Mill advocates legal restrictions on freedom of self regarding action.
e H-fauges Al 9T S0 giadedl & geed il B |

Code :
HE
Options :
Only (a) 1s true
I (a) 9= =
LJ-{J ol (a) Hel E

Only (b) is true
% ’:f_\'ﬂj? {b}ﬂ_'_'ﬂ’-r %

Both (a) and (b) are true
3 % @ ST (b) ST FET B

Both (a) and (b) are false

4% (a) AT (b)SHT o &
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Question Label : Multiple Choice Question



Who has given the idea that hegemony is 'imperialism with good manners' ?
e 9% [J=9 B @ 99 ‘=8 =aEr @ 919 JAEeaae 57

Options :
Immanuel Kant

Walter Lipman

G I e M [GAPE=

2. ®

George Schwarzenberger
3 o TS QAT

L. Oppenheim
, CTo HAUAEH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The ASEAN Regional Forum (ARF) was established in :
AT =1 a ®H (ARF) @0 =ad fmar @&

Options :

1992
1. ®

1994
2. ¥



1996
%

1998

Question Number : 87 Question Id
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is author of the book 'From Chanakya to Modi : Evolution of India's Foreign

Policy' ?
THH HEE T A
Options :

Kanti Bajpai
1 H = :l T '\.Jr

Aparna Pande

2.4 -

Rajeev Sikari
3 % YTOIT HEBA

Zoya Hasan

Question Number : 88 Question Id

qiST ¢ g HE 0SS WA IidEl JEE IR

: 59345214835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following scholar called, united states of America's federal system as
'cooperative federalism' ?
Fe=iepd H§ F e [AEm | S@gaa o SHIER @ G@HE Gl @

Options :
Morris Jones
r..-\. e .-' E

Daniel Elazar

W
SHYT Sl

2.¢

Oppenheimer
3, ¢ SRR

Herman Finer
4 % B WIS
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Question Label : Multiple Choice Question

The motivation source behind the impartial thinking according to Rawls in the
distribution of benefits and burdens of a society is :

e | gES H W AN AT & [Gaie B MWE e @ ween w@id
HIAT




Options :

Morality
S

1. ®

Religion
T4

Beliefs
FroaT

Rationality
4 T
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Question Label : Multiple Choice Question

Which province had the largest number of members present in the first meeting (9th
Dec., 1946) of the Constituent Assembly of India ?
AT 1 HiIIH HET B TEdl do (9 TH=T 1946) H HIH A" HiEAm

-,

H &HF-9 9T & Hed 39T o 7

Options :
Bengal

|

Bombay
2. % -
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Question Label : Multiple Choice Question

The Chief Justice of High Court is appointed by the :
7= SEd & g AEEE B FgET B E

Options :
President

1. ¥

Prime Minister
 HETHEAT
2. %

Chief Minister

I -
o -

3. %

Law Minister
4, % Sl
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Question Label : Multiple Choice Question

Which one of the intellectual foundations of behaviouralism is related to research based
theory building ?

=TEAe & SHFE-H1 Gies  JTIIOTT o HATIET Fara =E9T o
=T B 7
Options :

Systematization

| @ TR

Technique

Quantification
3 % OHATCITHTO

Integration

g4 % ST
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Question Label : Multiple Choice Question
Who of the followi mg is the author of the book 'Reflections on Public Administration’ ?

-

M=faiag § 9 ‘Toeaaa J19 9fEs osEeoe=’ & ods S & 7

Options :



Frank Marini
1 23 j-\-;d- -\.--.‘ -

Ordway Tead

M. P. Follett
5 % THO dlo Fiee

J. M. Gaus
4 So THo TMH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The characteristic which is essential for presidential form of government but is not
essential for parliamentary form of government is :
S 99T AFATHE JEh & O O1 AE9E B 97 HEenHs qEh &
Options :
Supremacy of Parliament
| % JHHS HI HII==d]

Effective Opposition Party
5 w HHTERTET [IET S



Supremacy of Constitution

Definite duration of the Executive
4 THETTCEDT H Hig=a HEE
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Question Label : Multiple Choice Question

In a pmlmmenhw system, the Executive is collectively IE%PDH%Ib]E to:
HEerd aHEA =g § @ I"—l'-III SEF HI‘-CHr-.uh wT o ILardl % :

Options :
The Upper House of the Legislature
| % eIl &% I=9 |6 & Wi

The Lower House of the Legislature
5 FTENIRT & = FJe & Ui

Prime Minister
5 % TETHET & A

Head of the State
4 % TrATERE & AT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

President's rule was imposed in India for the first time in the year :
qAd H TUECl A Iegdia 9EE @R AT T4 oo

Options :
1951
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Question Label : Multiple Choice Question

Panchayati Raj institutions were given constitutional status under Article :

T TS HEIAT B FIDNE G B H FYESe B AR eI 4T 7

Options :
256



243
3.¢

241
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Question Label : Multiple Choice Question

Who among the following was the Chairperson of the Provincial Constitution Committee
of the Constituent Assembly ?

T # 7 e JEa G991 # Aeiors Jigdr JEid @ F@=y o 7
Options :

Jawaharlal Nehru

AGEIART 45T

1. ®

Sardar Vallabhbhai Patel

) L RA-1Ed fl:f'gf'*'lﬂ'l":f 'ﬁr:

Dr. B. R. Ambedkar

3 % Efe 9o HATo AESHT

J. B. Kriplani

4Q%GﬁTEW
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which part of the Indian Constitution deals with its Amendment ?
AEAE HGGE B HLET AR IES Holtgd H HEgee gl 57

Options :
Part XX

ART gl
1. &

Part VIII

2. %

Part XIII

3 % HRT d<=dl

Part XIX

g, % ST ST
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Question Label : Multiple Choice Question

In which year Parliament passed the Citizenship Act ?

F9% A 9 99 H AFTEar SJATS=aH & 9ieg a7

Options :



1950

1955
2.¢

1960

1965



